

NAME: JIMOTH FAROUQ OLATUNDE

MAT NO: 17HEN6031028

DEPT: CIVIL ENGINEERING

ASSIGNMENT 3

$$x(x-2)y'' + (3x-1)y' + y = 0$$

Let

$$W_1 = x(x-2)y''$$

$$W_2 = (3x-1)y'$$

$$W_3 = y$$

For  $W_1$

$$u = y^2$$

$$v = x(x-2) = x^2 - 2x$$

$$u' = 2y y'$$

$$v' = 2x - 2$$

$$u'' = 2y'^2 + 2y y''$$

$$v'' = 2$$

$$u''' = 2y''^2 + 4y' y'' + 2y y'''$$

$$v''' = 0$$

For  $W_2$

$$u = y'$$

$$v = 3x - 1$$

$$u' = y''$$

$$v' = 3$$

$$u'' = y'''$$

$$v'' = 0$$

For  $W_3$

$$u = y$$

$$v = 1$$

$$u' = y'$$

$$v' = 0$$

Recall

$$y = \sum u_n v_n + n u_{n-1} v_n' + n(n-1) u_{n-2} v_n'' + n(n-1)(n-2) u_{n-3} v_n''' + \dots$$

$$y = \sum_{n=0}^{\infty} y^{(n)} \left[ \frac{x^2-2x}{n!} + \frac{n(3x-1)}{(n-1)!} + \frac{n(n-1)}{(n-2)!} \right] + \sum_{n=0}^{\infty} y^{(n)} \left[ \frac{3x-1}{(n-1)!} + \frac{n}{(n-2)!} \right] + \sum_{n=0}^{\infty} y^{(n)} \left[ \frac{1}{n!} + \frac{n}{(n-1)!} \right]$$

$$+ \frac{n(n-1)}{(n-2)!} + \frac{n(n-1)(n-2)}{(n-3)!} + \dots + \frac{1}{n!} + \frac{n}{(n-1)!} + \frac{n(n-1)}{(n-2)!} + \dots$$

$$= (x^2-2x) \sum_{n=0}^{\infty} \frac{y^{(n)}}{n!} + n(3x-1) \sum_{n=0}^{\infty} \frac{y^{(n)}}{(n-1)!} + n(n-1) \sum_{n=0}^{\infty} \frac{y^{(n)}}{(n-2)!} + (3x-1) \sum_{n=0}^{\infty} \frac{y^{(n)}}{(n-1)!} + n \sum_{n=0}^{\infty} \frac{y^{(n)}}{(n-2)!}$$

$$+ (x^2-2x) \sum_{n=0}^{\infty} \frac{y^{(n+2)}}{n!} + \sum_{n=0}^{\infty} \frac{y^{(n+1)}}{(n-1)!} \cdot (n(3x-1) + (3x-1)) + \sum_{n=0}^{\infty} \frac{y^{(n)}}{(n-2)!} \cdot (n(n-1) + 3n + 1)$$

$$= (x^2-2x) \sum_{n=0}^{\infty} \frac{y^{(n+2)}}{n!} + \sum_{n=0}^{\infty} \frac{y^{(n+1)}}{(n-1)!} \cdot (2n(3x-1) + 3x-1) + \sum_{n=0}^{\infty} \frac{y^{(n)}}{(n-2)!} \cdot (n^2 - n + 3n + 1)$$

assuming  $x=0$

$$(Y_{0+1})_0 = (Y_0)_0 (1 + 2n+1) = 0$$

$$-(Y_{0+1})_0 + (Y_0)_0 = (Y_0)_0 (2n+1) = 0$$

$$(Y_{0+1})_0 - (Y_0)_0 = (Y_0)_0 (2n+1)$$

$$(Y_{0+1})_0 = (Y_0)_0 (2n+1)$$

$n+1$

$$(Y_{0+1})_0 = (Y_0)_0 (2n+1)$$

Recall  $(Y_0)_0 = 0.0005$

$$(Y_{0+1})_0 = 0.0005$$

$n=0$

$$(Y_{0+1})_0 = (Y_0)_0 (2+1)$$

$$(Y_1)_0 = 1(Y_0)_0$$

$n=1$

$$(Y_{0+1})_0 = (Y_1)_0 (2+1)$$

$$(Y_2)_0 = 2(Y_1)_0$$

$n=2$

$$(Y_{0+1})_0 = (Y_2)_0 (2+1)$$

$$(Y_3)_0 = 3(Y_2)_0 = 3 \times 2(Y_1)_0 = 6(Y_1)_0$$

$n=3$

$$(Y_{0+1})_0 = (Y_3)_0 (3+1)$$

$$(Y_4)_0 = 4(Y_3)_0 = 4 \times 6(Y_1)_0 = 24(Y_1)_0$$

$n=4$

$$(Y_{0+1})_0 = (Y_4)_0 (4+1)$$

$$(Y_5)_0 = 5(Y_4)_0 = 5 \times 24(Y_1)_0 = 120(Y_1)_0$$

$n=5$

$$(Y_{0+1})_0 = (Y_5)_0 (5+1)$$

$$(Y_6)_0 = 6(Y_5)_0 = 6 \times 120(Y_1)_0 = 720(Y_1)_0$$

$n=6$

$$(Y_{0+1})_0 = (Y_6)_0 (6+1)$$

$$(Y_7)_0 = 7(Y_6)_0 = 7 \times 720(Y_1)_0 = 5040(Y_1)_0$$

Using binomial theorem

$$Y = (Y_{0+1})_0 + 2(Y_1)_0 + 2^2(Y_2)_0 + 2^3(Y_3)_0 + 2^4(Y_4)_0 + 2^5(Y_5)_0 + 2^6(Y_6)_0 + 2^7(Y_7)_0$$

21

21

11

51

9

71

$$y = c(1^0) + x^1 c(1^0) + x^2 c(2^1) + x^3 c(3^1) + x^4 c(4^1) + x^5 c(5^1) + x^6 c(6^1) + \dots$$

$$\dots + x^9 c(50400)$$

$$y = c(1^0) (100) + (x^2 + x^3 + x^4 + x^5 + x^6 + x^7) (1^1)$$

$$y = 0.0005 c(100) + 0.0005 (x^2 + x^3 + x^4 + x^5 + x^6 + x^7)$$

ellen 205

$$y = 0.0005 c(105) + 0.0005 (5^2 + 5^3 + 5^4 + 5^5 + 5^6 + 5^7)$$

$$= 115.825 \text{ m}$$

x = 8

$$y = 0.0005 c(108) + 0.0005 (8^2 + 8^3 + 8^4 + 8^5 + 8^6 + 8^7)$$

$$= 1198.375 \text{ m}$$

x = 10

$$y = 0.0005 c(110) + 0.0005 (10^2 + 10^3 + 10^4 + 10^5 + 10^6 + 10^7)$$

$$= 5555.555 \text{ m}$$

Matlab für

Command window

clear

ac

close all

x = 0:0.01:10

$$y = (0.0005 * c(1+x)) + (c*x^2 + x^3 + x^4 + x^5 + x^6 + x^7) * 0.0005$$

Yn = fussy

Plot (x, Yn)

\* label ('m')

Y label ('Depression')

axis on

grid on

grid minor

